
	
Bestimme	den	Geometrischen	
Ort		(GO)	aller	Punkte	7,	
wenn	folgende	Bedingungen	
gelten:	 	



1.	 	 $%	steht	senkrecht	zu	01	und	∡0$1 = 90°.

	 	



2.	 	 0$ = 1$ = %$,	d.h.	$	liegt	gleich	weit	von	0,	1	und	%	entfernt.	

	 	



3.	 	 Der	Abstand	von	$	zur	Strecke	01	ist	5	cm.	

	 	



4.	 	 ∡$01 = 60°	

	 	



5.	 	 ∡0$1 = 60°	

	 	



6.	 	 0$ = 2 ⋅ 1$	,	d.h.	$	ist	doppelt	so	weit	von	0	entfernt	wie	von	1.	

	 	



7.	 	 0$ + 1$ = 20	OP	

	 	



8.	 	 0$ ⋅ 1$ = 1	 	 (Einheit	1	entspricht	1	dm)	

	

	 	



9.	 	 Die	Summe	der	beiden	Abstände	von	$	zur	Geraden	W	und	von	$	zur	
	 	 Geraden	ℎ	ist	4	cm.	

	



10.		 	$	ist	gleich	weit	vom	Kreis	Z	entfernt	wie	von	1.	

	



	
Lösungen	



1.	 	 $%	steht	senkrecht	zu	01	und	∡0$1 = 90°.

	 	



2.	 	 0$ = 1$ = %$,	d.h.	$	liegt	gleich	weit	von	0,	1	und	%	entfernt.	

	



3.	 	 Der	Abstand	von	$	zur	Strecke	01	ist	5	cm.	

	 	



4.	 	 ∡$01 = 60°	

	 	



5.	 	 ∡0$1 = 60°	

	



6.	 	 0$ = 2 ⋅ 1$	,	d.h.	$	ist	doppelt	so	weit	von	0	entfernt	wie	von	1.	

	

		 	



7.	 	 0$ + 1$ = 20	OP	

	 	



8.	 	 0$ ⋅ 1$ = 1	 	 (Einheit	1	entspricht	1	dm)	

	

	

	

	



9.	 	 Die	Summe	der	beiden	Abstände	von	$	zur	Geraden	W	und	von	$	zur	
	 	 Geraden	ℎ	ist	4	cm.	

	

	



10.		 	$	ist	gleich	weit	vom	Kreis	Z	entfernt	wie	von	1.	

	


